Write the equation of this function.
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Write the equation of this graph as a Sine Function: )
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Write the equation of this graph as a Cosine Function:

(3Z 5) same \ Amplitude= 3
If you §r s as Period = /2
start here Sine o
Midline: y=2
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y = 3Cos(4(x - %)) +2




Write both a Sine and a Cosine equation for this graph.

Graph one period of this function. Label the coordinates of all maximums,
minimums, and x-intercepts. y = 5Sin(3(x + %)) .
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Add %to one x-coordinate to

get the next one. Reduce when
possible.

Write both a Sine and a Cosine equation for this graph.
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Graph one period of this function. Label the coordinates of all maximums,
minimums, and x-intercepts.
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